,Uo-data uy = (\ —550)/ 502

+ logPg)/2 logD, = -0,35l)\—u ]

+0,023  logPy=-0,350,~! u%J]

,Po] Adaptation: A, =550
‘563

Threshold
S=0.04

D

-10 00 10 30

logarithmic J , Jo-data

500 600 700 /nm

IE230-1N
uy = (A —550)/ 502
+log )/2 log  =-0,35L)\-u ]

logJo = logJ + 0,78 log =-0,35u,-u ]

Adaptation: A, =575

Th“eshold
50

.

-10 00 10 30

500 600 700 /nm

IE230-3N
-data uy = (\ —550)/ 50
+log )2log  =-0,35u\-u ]
+0,087 log =-0,35u\-u ]
Adaptation: A, =475

2

Threshold
S=0.04

-1,0 0.0 10 30w

500 600 700 /nm

IE230-5N
., -data uy = (\ —550)/ 5%
+logUg)/2 log  =-0,35u)\-u ]2
+0,35 logUg = —0,35L)~Uss]
Adaptation: Au =500

Threshold
S=0.04

.3,0 uy

700A/nm

IE230-7N

-data u) = (A - 550) / 50}
+10gJp)/2 log = -0,35u)\-u
+0,196 logJo=-0,35U)-Us7g
,Jo] Adaptation: A, =538

>

uy=@\- 550) 150
+logUy)/2log = —0,35)-u
+0,087 logUy=-0,35)-u
- Adaptation: A, =525

-1,0 0.0 1,0

500 600 7007 /nm

|IE230-4N

, -data uy = (A —550)/ 5%
+log\V)/2log = =-0,35u)-u ]
+0,087  log\\,=-0,35uy~u--]]

Adaptation: A, =488

IE230-6N

Uy = ( = 550) / 50

+logJg)/2 log = -0,35u)-u
+0,35  logJo=—0,35U\~Us7q
,Jo] Adaptation: A, =525

N

|IE230-8N

logarithmic , -data uy=0\- 550)/50
log =(log +log )/2log =-0,35\-u ]

log =log +0,021 log  =-0,35u-u ]

[51¢] [ Co, Ca, Bo. Adaptation: A, =488
c=1

iug =clog( [/
leg  =clog(

r-30 -10 1,0
400 500 (10]0)

BoGo->Ca, G*, B*
logarithmic D, D-data )
logh =(log  +logJoy)/2 log  =-0,35u\~u ]
logD.=logD +0,196  logJo= 0,350 —Us7]"
log [ Do, D-, G, Jo] Adaptation: A, =538
BS!

log  =clog{

10

—//
-1,0
600

GoJo->Da, J*, G* |IE231-3N

logarithmic ,  -data uy = (A — 550) / 5Q

log =(logJo+log )/2loglo= —0,35[.1)\—u575]"2

[o]s] =log +0,03 log =-0,35u\-u ]
log[ , .Jo Adaptation: A, =594
575 c=1

+1 =

log ‘—clog/V)—U'E:\
logd*=clog(Jo/  )+0.5 S~—_
0

| / \ Thresholw

-73,0 —l.,O ZI:,O 1_3,0 ux
400 500 600 700A/nm
JoR'0_O'a, R*, J* IE231-5N
logarithmic , -data uy = (A — 550) / 50
log =(log +log )2log =-0,35\-u ]
log =log +0,021 log =-0,35u\-u ]
log [, =5, Adaptation: Ay =488
c=-1/log [475] C=11.42

log =clog( /
log =clog(

BoGo->Ca, G*, B* |IE231-7N

logarithmic , -data u) = (A —550) / 50

log =(log- +log  )/2log  =-0,35u\-u ]

log =log +0021 log  =-0,35u-u ]

log [, . =0, Adaptation: A, =488
c=1

log =clog(" / )+0,
log - =clog(: /  )+0,5

Threshol
S:=0.04
30 -10 1,0 3,0 i
400 500 600 700A/nm
BoGo->Ca, G*, B* IE231-2N
logarithmic 1, D -data u) = (A — 550) / 50
logD. = (log  +logJg)/2 log = -0,35l)\—u 1,
log D, =logD + 0,196  logJo = —0,35L~Us7g
log[l, 0, ,Jo] Adaptation: A, =538
c_rilfl_ogJo[SOO] 575 c=1.26

logJ*=clog(Jo/ )+0,5
log =clog( /D )+0,

Threshol

S:=0.04
1,0 3,0 i
(]0]0) 700A/nm

GolJo—>Da, J*, G* IE231-4N

logarithmic ~,  -data uy = (A — 550) /50
log = (logJo+log )/2logJo= —0,35[.1A—u575]“2
log =log +0,03 log =-0,35u\-u ]
log[ , ,Jo Adaptation: A, =594
575 c=1

+1-
log ::clog( !/ )+0,5
IogJ* =clog(Jo/ )+0,5
(0]

~
~

) IE231-6N
logarithmic \ uy = (A —550)/ SQ
= (logJo+ log )/2IogJ0— —0,35[u,—! u575]
=log +0,03 log =-0,35u,-u ]
s Jor Adaptation: A, =594
_G=-1/log [575] 575 c=4.94

log =clog( / )+0,5
logJ*=clog(Jo/ )+0,5 /
0 —

JoR'o_O'a, R*, J* IE231-8N



